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General Instructions :

Read the following instructions carefully and follow them :

()
(ii)
(iii)
(iv)
)
(vi)
(vii)

(viii)

(ix)

32/s/1

This question paper contains 37 questions. All questions are compulsory.

Question paper is divided into six sections — Section A, B, C, D, E and F.

Section A — Questions no. 1 to 20 are Multiple Choice type questions. Each question
carries 1 mark.

Section B — Questions no. 21 to 24 are Very Short Answer type questions. Each
question carries 2 marks. Answer to these questions should not exceed 40 words.
Section C — Questions no. 25 to 29 are Short Answer type questions. Each question
carries 3 marks. Answer to these questions should not exceed 60 words.

Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each

question carries 5§ marks. Answer to these questions should not exceed 120 words.

Section E — Questions no. 34 to 36 are Case-based/Source-based questions with three

sub-questions. Each question carries 4 marks.

Section F — Question no. 37 is Map skill-based question with two parts — 37(a) from
History (2 marks) and 37(b) from Geography (3 marks). This question carries total

5 marks.

In addition to this, NOTE that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such questions

are to be attempted by Visually Impaired candidates only.

SECTION A
(Multiple Choice Questions) (20x1=20)

Choose the correct option from the following regarding nineteenth century
‘liberalism’ : 1
(A)  Monarchy, social hierarchy and property must be maintained.

(B)  The abolition of state-imposed restrictions on the movement of goods and

capital.
(C)  Criticised the glorification of reason and science.

(D)  Not tolerating dissent and imposing censorship.
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Choose the correct option regarding the Axis powers in the Second World War.

(A)  Germany, Italy and China
(B)  Britain, France and Germany
(C)  Germany, France and Italy
(D)  Germany, Japan and Italy

Arrange the following events in chronological order and choose the correct
option :

L. Establishment of Depressed Classes Association

II. Gandhi-Irwin Pact

III.  Formation of the Indian Chambers of Commerce and Industry (FICCI)

IV.  Second Round Table Conference in London

Options :
(A) LILILIV B) ILLILIV
©) OLLILIV (D) 1V, LI, 11

Choose the correct option to fill in the blank.

The Vernacular Press Act was passed in on the lines of the Irish
Press Act.

(A) 1878 (B) 1968

(C) 1887 (D) 1778

Two statements are given below. They are Assertion (A) and Reason (R). Read

both the statements and choose the correct option.

Assertion (A) . We need to protect forests and wildlife.

Reason (R) . Conservation maintains ecological diversity.

Options :

(A)  (A)istrue, but (R) is false.

(B)  (A) is false, but (R) is true.

(C)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(D)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
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(A) afHerTg (B) TSN

D

() foew (D) NG

U7 1Y AT FrAferrad forRrsratt =i ufet I et foshed 1 == hifT :
L. A-<IS & § Tehed w8 918 ST 2 |

I 9% SFcarss Oft s i & |

I I8 3T &1 H hl STl & a1 i I SIEEAT 1 ga1d 372 8idi 2 |
IV. @ % 36 T ol Y ol i el & |

foreprea .

(A) FAAITINERZ | (B) FaA T EHNE |
(C) FHAAUIT IVHTR | (D) HIAIT IVERTE |
frafafga & & H-91 St o1 AU @ 8 2
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(C) (A TR, AR (R) Taa = |

(D)  (A)TEd &, TR (R) TR & |
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In which one of the following states are ‘Tankas’ prominently prevalent for
rainwater harvesting ?

(A)  Tamil Nadu (B) Rajasthan

(C) Bihar (D) Jharkhand

Read the following features of plantation agriculture and choose the correct option :

L. A single crop is grown on a large area.
IL. It is capital intensive farming.
III. It 1is practised in areas of high population pressure on land.

IV.  Food grain crops are the major crops of this type of farming.

Options :
(A)  Only I and II are correct. (B) Only II and III are correct.
(C)  Only I and IV are correct. (D) Only I and IV are correct.

Which one of the following is a non-conventional source of energy ?
(A) Natural gas (B) Petroleum
(C) Coal (D) Geothermal energy

Two statements are given below. They are Assertion (A) and Reason (R). Read
both the statements and choose the correct option.
Assertion (A) . Power sharing is the spirit of democracy.

Reason (R) . Alegitimate government is one where all the groups connect
with the government through their participation.

Options :

(A)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C)  (A)istrue, but (R) is false.

(D)  (A)is false, but (R) is true.
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10.

11.

12.

13.

14.
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(B)  fcedr, fareeft e, sk o g

(C)  fcrE, ST, Afirsy 3R HiY
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(A) &t I T TSR AT FHUAT AR 7 |

(B) Tt el Bt TR fed T e B

(C)  Txft Srfieaml ol JU-Us ST SATURTTEh HTHEAT ST ST 3T G ¢ |
(D) <Al % AT HIHHIS i LT FL % TSI ST BT |
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10.  Vertical division of power is : 1

(A)  Power is shared among different organs of government.
(B)  Power is shared among different social groups.
(C)  Power is shared among different pressure groups.

(D)  Power is shared among different levels of governments.

11.  Refer to the following countries with federal political system and choose the
correct option : 1
L. United States of America II. China
IlI.  Japan IV. India
Options :
(A)  OnlyIandII are correct. (B) Only II and III are correct.
(C)  Only IIT and IV are correct. (D) Only I and IV are correct.

12. Which one of the following is the majority community in Sri Lanka ? 1
(A)  Sinhalas (B) Indian Tamils
(C)  Sri Lankan Tamils (D) Christians

13.  Choose the correct option regarding the Concurrent List of legislative rights in
India. 1
(A)  Currency, Irrigation, Adoption and Computer Software
(B)  Defense, Foreign Affairs, Banking and Communication
(C)  Police, Business, Commerce and Agriculture
(D)  Education, Forest, Marriage and Adoption

14.  Which one of the following orders has been passed by the Supreme Court to
reform political parties in India ? 1
(A) It is mandatory for all parties to hold organizational elections.
(B) It is mandatory for all parties to file income tax returns.

(C) It is mandatory for all the candidates to give details of criminal cases on
affidavit.

(D)  Issuing orders to regulate the internal working of parties.
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15. Ffafed § & SHF-A1 Sl Hi 3T 1 @ i 2 ?
(A) Tod S & e o=
(B) W STHT & ITH &
(C) HSIGR O KT & ST o ®9 § TH &
(D) <t sl St Hufa & TH o
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31k T & g AT B 2
(A) SHTEHEI S (B) UEshrt wiufaat
(C) HEEPN (D) R

o

17. feuwww o o1 st hifS | Fomr & 819 aret o srefegaen & fefefaa 9 9 fora

&5 o ATl SATAT & ?

(A) Tt
(C) qataeh

e ; (REfcTRad Sv Shact greaTfera GXierTieran & 1o7g Jo7 &1 17 % €I W e |

axTuTer srefeaee & frefafad § & fore &k o Sfarta sTmaT & 2
(A) e B) fxdfo
(C) TR (D) =g

<
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15.

16.

17.

Note :

32/5/1

Which one of the following is the main source of a bank’s income ? 1
(A)  Money obtained from Reserve Bank

(B)  Money received from demand deposit

(C)  Money obtained as interest on loan from the borrower

(D)  Money received from the property of a defaulting borrower

Which one of the following sources meets the needs of loan of rural households in

India to the maximum extent ? 1
(A) Commercial Bank (B) Cooperative Societies
(C)  Moneylender (D) Businessman

Study the given picture. The work being done in the picture comes under which of

the following sectors of the economy ? 1

PO

(A)  Primary (B) Secondary
(C) Tertiary (D) Quaternary

The following question is for the Visually Impaired Candidates only, in lieu of
O.No. 17.

Animal husbandry comes under which of the following sectors of the economy ? 1
(A)  Primary (B) Secondary
(C) Tertiary (D) Quaternary
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18.

19.

20.

21.

22.

23.

24.
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STFIGEAT o &7eh] Y BT Hel SIS o forehed o1 9= HifST | 1
(A) T - @
B) Tgdes i GEIREGI]
(C) qdEsh — god
(D) Tl — A qTe
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Tk T o6t gfet o fore =&t forepea ot == hifS |
forar =TI Eie T sh e UL I BT AT | 1
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(C) Te-Frue (D) @TFIeTer
QU ™
(et erg sl W) (4x2=8)

(@) G An (e &) A fohd Terr g 2l STrer ot ? fereel &1 Serewl died g

Hifera | 2

AT

(b) TR @TE Tl § g e o6 sfi<r fohdl JehIC Witepicieh SATEM -3 G foraT ot 2

foregi <t SeTeon wfeq s Hifsw | 2
“ITYeh QST STTETS! TSMT h! Tt AT TEAU | ITT ST & |7 ISTE0T Fied 56 o hi
s i | 2
G SFET hl GhAdT & AU Gaenfer Jrae =t T 8HT R ITEwdh & 2 Wy
HIT | 2
SAYSfTeRTT ShT EHE ST H YT Te S Efirsht sht fteht s forgetor hifS | 2
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18.

19.

20.

21.

22.

23.

24.
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Choose the correct pair regarding the sectors of economy. 1
(A)  Primary — Mining
(B)  Secondary — Flower cultivation
(C)  Tertiary — Fishing
(D)  Secondary — Bee-keeping
Which one of the following states has the highest Human Development Index ? 1
(A)  Punjab (B) Gujarat
(C)  Rajasthan (D) Kerala
Choose the correct option to fill in the blank.
World Trade Organisation was started at the initiative of the countries. 1
(A)  Developed (B) Developing
(C)  Non-aligned (D) Communist
SECTION B
(Very Short Answer Type Questions) (4x2=8)
(a) How did the Silk Route connect the world ? Explain with any two
examples. 2
OR
(b)  How did our foods facilitate cultural exchanges between distant countries ?
Explain with any two examples. 2
“In sedimentary rocks a number of minerals occur in beds or layers.”” Support the
statement with example. 2
Why are constitutional provisions necessary for the success of federalism ?
Explain. 2
Analyse the role of Information and Communication Technology in making
globalization possible. 2
Page 13 of 23 P.T.O.
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26. HETEAT o fesyUl ST % AT fopg TR RIS U weHT wHifa B 2 Seren
wfeq Tz fifsw | 3
27. VA foRETT bl IRRITEA R ST Ty 2 foreel i shTeont bt = hifsie | 3
28. AU WA H I TSI Gall o g foheal oI ST shi SaReT hiferg | 3
29,  “TAN o forehTd o A& T 81 Tohd & |7 39 H hl SSTELUN Ged SAHEHT ehifolu | 3

LCLERS)

(@Erd-z0a ) (4x5=20)

30. (a) 1830 % qH JUY H WY IHTfeh HISATE TR AT | T6 HAT i e
e g Hifer | 5

HAYAT

(b) I~ TraTedt o AT H U | Tg o forami o Fmior # el 3 G 31w
WftrerT F11TS | 390 e <t SaTen afed g Hifv | 5
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25.

26.

27.

28.

29.

30.

32/s/1

(a)

(b)

SECTION C
(Short Answer Type Questions) (5x3=15)
Analyse the economic impacts of the Non-Cooperation Movement. 3

OR

“‘In India, the growth of modern nationalism was intimately connected to

the anti-colonial movement.”” Analyse the statement. 3

How is planning a widely accepted strategy for judicious use of resources ?

Explain with examples. 3
Why should Indian farmers practice crop rotation ? Explain any three reasons. 3
Explain any three challenges before Indian political parties in the present time. 3

“People can have different developmental goals.” Explain the statement with

examples. 3
SECTION D
(Long Answer Type Questions) (4x5=20)
(a) “The 1830s were years of great economic hardship in Europe.” Support the

(b)

statement with examples. 5

OR

“Culture played an important role in creating the ideas of a nation in
Europe during the early nineteenth century.” Explain the statement with

examples. 5
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34.
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(2)

(b)

(a)

(b)

(b)

AT ST IEAT H I o Hewdl ohl S REHT ShIfT | 5
et

ST 1Y QN7 o foIT fordr TepR Seitemelt & 2 gwshl Uehel™ o foTe fehedl ot

JUTIT T gAY | 2+3=5

Arerds forE TR forrgl 31 SITEe SFerEall ¥ 98X © 2 3Se gfed €y

IS | 5
3YAT
Arehdd TohE TR AT faferaaret § |THseT TTfUd Shidr & 2 3STeTn
gfgd TIs hifsrT | 5
T § A1k &Teh o 96 e oh SATEAT hiTSTT | 5
AUaT
Grfed Ud STEITST &5eh! | 37aT T IS | 5
Qus g
(ShE-3TTTIE / F-2ATLTRT T9T) (3x4=12)

fow T & ot ufer T 3Eek = fow g et o 3T AT

St

T ¥ St (Jikji) I@Wﬁ?ﬁ‘ﬂ*ﬂ (Movable metal type) %wgﬁagﬁm
o1 T8 qUHT HISET qEdhi § | @ | 399 S (Zen) S 94 ol HEY faivard & | &
W W, <9 SR R & qm 150 st FrggeAl a1 Soor@ fohar /€ | g9 1440
TATeRT o 37 # i foram T o | R o Ted ©S Uy TE €, 3o ©S i

A ATgSHT IS & | AT 1 TE0T HEHAT H U HEweqUl qepHTeh! giad e
TAT | F=T T & o6 3/ 2001 T FHeh! AT T 3 qoe Aoeet 1 3o foparm T |

(34.1) 3T 3 3faere # fSeft 3 He 1 Seehd I | i

(34.2) TSEIT T 2001 H TR HARY ST T Tce Aoreet 7 FT 3tford fopam mm 2 I

(34.3) S siig o Y T o frersit forer TehR anTe 2T R 2 2
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31. (a)  Explain the significance of industries in the Indian economy. 5
OR
(b)  How are industries responsible for air pollution ? Suggest any three
measures to control it. 2+3=5

32. (a) How is democracy better than any other form of government ? Explain

with examples. 5

OR
(b)  How does democracy accommodate social diversities ? Explain with

examples. 5

33. (a) Explain the rising importance of the tertiary sector in India. 5
OR

(b)  Explain the difference between organized and unorganized sectors. 5

SECTION E
(Source-Based/Case-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :
Jikji
The Jikji of Korea is among the world’s oldest existing books printed with
movable metal type. It contains the essential features of Zen Buddhism. About
150 monks of India, China and Korea are mentioned in the book. It was printed in
late 14t century. While the first volume of the book is unavailable, the second
one is available in the National Library of France. This work marked an important

technical change in the print culture. That is why it was inscribed on the
UNESCO Memory of the World Register in 2001.

(34.1) Mention the significance of the Jikji in the history of printing. 1

(34.2) Why was the Jikji inscribed on the UNESCO Memory of the World
Register in 2001 ? 1

(34.3) How does the Jikji contribute to the understanding of Zen Buddhism ? 2
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35.

36.
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faw v ga = ufew 3 3ges A= fou Tu gwT % S i
AT 31X arfies ferferaar

IRA T STHUET B I3 g8 9Tl o1 ot anrieht & e @t gst fopa St @ |
ST ferdTT <6 STTEHT B-B ST QT & 3eh I H TS Serd & | o aia aft
STl o S H AN S o dTd 8, Sioh S8 &l BH H &1 [T ST 8 | IR g Hedl &
T3 a5 “Tiftaer 2 a1 fopelt o =AY i war Y el F oft s@ I S ot A feT ST 2
T4 RO o0 A T ol 6t A aTer <A sht ST SR I U § 3 foRet
e o S H BN U ferzerertr el € | feehte & <91 o 8 9@ anfties et
1 ST o STTUTA T Ul <A1 @ | SATSTET 6 18 § Teeh ik T shl HATea1 §
FH AE TS |
(35.1) YR H SFATUET fopdr Satret W Y STt & 2
(35.2) WRA § STUMT % 3TTehel ol forvargi =it 71T SITar & 2

(35.3) wRd # @i fafagar st gwee & faT SEoET e TeR T AeEqul
JUHT 2 2

few Tw Eq wh ufew o 3ues = fou u e %S9 i
TorerTer it ermutEEaT

“gTeT o SHTOT & UelT It & fo 21 % g Wl o ST STet o1 SATd-STNT 81 o1
T ke & | T 300 TSt & g fieft @ for 9=t st 20 |t & ot o s
4 Hiet & Ffereh ol e 3ATS @ | 921 o1 ST Toh-deTs Wi, 9T STet WoSHi
ATT-IUAT o &1 2 | A 39 9o o TANT F T Faq alien ST T&T af 37T
25 ST & I T 60 FIRIT T $9 e T ATT-STAM L T B | a1 &
SATT-STANT forRIs €7 § USTeT I GFEET I IS o6 W T 3B & q5 &1, 7T 371
AT AT o T TR &RlT, F qead] &=l ST st ¥ fohféra Bt el afeeat §
TR ST R |7
(36.1) Tarshrar Y arofiaraT =t o1ef v Hifsrw |
(36.2) Y[HHTA ST o SATT-SURATT oh 10T B ATt T Hehe T 0 SHITTT |

(36.3) TN & TG ST % HAI-STANT T FH FA % [T FIH 6 TIC el af
HATE! T It hITT |
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35.  Read the given source and answer the questions that follow :

Social and Religious Diversity

The Census of India records the religion of each and every Indian after every
ten years. The person who fills the Census form visits every household and
records the religion of each member of that household exactly the way each
person describes it. If someone says she has ‘no religion’ or that he is an ‘atheist’,
this is exactly how it is recorded. Thus we have reliable information on the
proportion of different religious communities in the country and how it has
changed over the years. The record shows the population proportion of six major
religious communities in the country. Since Independence, the total population of
each community has increased substantially.
(35.1) At what interval is census conducted in India ? 1
(35.2) Why are Indian census data considered reliable ? 1

(35.3) How is the census an important tool to understand the social diversity in
India ? 2

36. Read the given source and answer the questions that follow :

Sustainability of Development

“Recent evidence suggests that the groundwater is under serious threat of
overuse in many parts of the country. About 300 districts have reported a water
level decline of over 4 metres during the past 20 years. Nearly one-third of the
country is overusing their groundwater reserves. In another 25 years, 60 per cent
of the country would be doing the same if the present way of using this resource
continues. Groundwater overuse is particularly found in the agriculturally
prosperous regions of Punjab and Western U.P., hard rock plateau areas of central
and south India, some coastal areas and the rapidly growing urban settlements.”

(36.1) Explain the meaning of Sustainability of Development. 1
(36.2) Describe the serious threat caused by overuse of underground water. 1

(36.3) Mention any two suggestions for the farmers to reduce the overuse of the

groundwater in agriculture. 2

32/S/1 Page 19 of 23 P.T.O.




37. (a)

(b)

Qug oI

(AT RIvTer-SATeTiE U9 ) (2+3=5)

WA o T3T T TSR T@T-AH T (753 23 W) , 3T TIHI 1 ‘A” 3 B” &
&Y # ferd fomar mar 2 | FA=feifed st i wgmdr 9 3% geenY 3

I G T 3% gHIT Ei=t 78 TErett w fefau

A, I8 T ST st 3 foramt h g o o aeame o) 1
B. 98 TAM &l 1927 § YRATT TSR FHUH T AT T T | I
WA o g1 Tt fereh var-ates 4, fefafad o @ fet @i %t Sug gt @
QST 3T 39k 1 feAfgT 3x1=3

(i) Tl IcUTe | vt T
(i) g T e hl @
(iii)  eifear : T EHE

(iv) TSt el Sl g ae=

e : (HECTREd J¥7 Shact GroaTierd GRieTTieran & 1o7Q Jo7 &1 37 % T W e |
Tereel uier 341 & ST T | 5x1=5

(37.1)
(37.2)
(37.3)
(37.4)
(37.5)
(37.6)

32/s/1

39 T T T TARIT et miefis I foramt i gerar & o geame fomm |
36 T T A FARIT STET 1927  WRATT TS A4 T ST g7 o7 |
HTT AT | STV AT T 6T 79 forfae |

S TS o AT TARaT ST8T g1 wile-32reeh ohl T Rud € |

34 TS 1 A9 fIRa et shifeer as oo fad 2 |

3G TA o1 A AR STat Tsiiar et Sy ang o a2 |
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SECTION F
(Map Skill-Based Questions) (2+3=5)
37.  (a) Two places ‘A’ and ‘B’ have been marked on the given political outline

map of India (on page 23). Identify them with the help of the following
information and write their correct names on the lines drawn near them :

A. The place where Gandhiji organized Satyagraha to help the

peasants. 1
B. The place where the session of the Indian National Congress was
held in 1927. 1

(b)  On the same political outline map of India, locate and label any three of the
following with suitable symbols : IxI1=3
(1) Leading Coffee-producing State
(i1))  Durg : Major iron-ore mines
(iii))  Kochi : Major sea port
(iv)  Rajiv Gandhi International Airport

Note : The following questions are only for the Visually Impaired Candidates only, in
lieu of Q.No. 37.
Attempt any five questions. Sx1=5

(37.1) Name the place where Gandhiji organised Satyagraha to help the peasants.

(37.2) Name the place where the session of the Indian National Congress was
held in 1927.

(37.3) Name the leading Coffee-producing State of India.
(37.4) Name the state where Durg iron-ore mines are located.
(37.5) Name the state where Kochi sea port is located.

(37.6) Name the place where Rajiv Gandhi International Airport is located.
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